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(%) (%) (g/ C mg) (%) (g/cmB) (%)
SP419.09 (3@ H) 15.3 1.582 92.5
it T35 13. 25 18.8 1.710
SP399. 09 (6JE H) 15. 2 1.604 93. 8
JRASEIZ. 85%LL
B35 11.69 14.6 1. 880 SP399. 09 (Kufi) 16. 4 1.720 91.5
i %l 92.6
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TRAEMAL W T JIl % & T = WBREAR F R 24 £ 2 H 14 H
Hh R (R 1) SP419.09 (3)& H) I S o e ke

1. B AR O EDEIE

) iE No. 1(1[=1H) 121 H) 1= H)

BIERMEWOHE & I, 21862 21872 21888

BIEA &0 H & m; 6004 6004 6004

BIERHORZE \Y cm® 9820 9820 9820

OB & E pdssmym)/V g/cn® 1.615 1.616 1.618

IT. RERHRD ORI o ds g/cn’ 1.616
m. # =&

wooE® W N 1 B4 W GS-Cs
= B L No. 1
% x L 72 mm 75
S B 5 % Bit
P e No. 1
7 b = i g 28
(RRBRTLAS 0 HI L 72 4+ 45 59 B g 17999
RERAL2 B L7zt o0 i 3 ms g 17971
(RBHAD+ AR EE my g 18000
(FEor-R B AW+ A8 E & ms g 1193
NSRT VN OB O E R m, g 876
HOoB O o K B VeE(mmsmy)/ o g on’ 9858
A i ¥ B p=my/V, g/cm’ 1.823
iz pid v B om0 /(40 /1000 g/cm’ 1.582

wx % N 7
= ma g 1077.70
mb g 953.36
me g 75.88
o % 14.17
7K = % No 8
ma g 1080.53
mb g 940.02
me 79.58
2 o % 16.33
¥ O % 15.3

I & oK ik o % 15.3

¥ i B E o, g/(:m3 1.823

il WmEREE o d g/(:m3 1.582
T L

i [ D > B
pec = 29 100
pd’

DC: #[E¥% (%)
04t KEED % OB B E R (g/cm®)

04 FBRWLBREE (g/cm®)

1.582

X100

1.710

92.5

(%)
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WIER %O H & m, 6004 6004 6004

R ERBORE \Y% cm® 9820 9820 9820

OB & E pdssmym)/V g/cn® 1.615 1.616 1.618
IT. RERHRD ORI o ds g/cn’ 1.616
m. # =&

wooE® W N 1 + B 4 PR GS-Cs
= 5 1L No. 1
=4 PN i 23 mm 75
S B 5 % Bit
P 7w No. 1
7 it = & g 28
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BBAL G IR L7z o 1 ms g 18217
(RBHAD+ AR EE my g 18000
(FEor-R B AW+ A8 E & ms g 1193
N =27V =N OB O & m, g 876
HOoB O o K B VeE(mmsmy)/ o g on’ 9858
A M =% i3 o =ms/V, g/cm3 1.848
iz pid v B om0 /(40 /1000 g/cm’ 1.604

wx % N 11

= ma g 1082.49

mb g 958.25
me g 75.25
) % 14.07
VIS A & No 12
ma g 1080.86
mb g 938.58
me 68.35
e ) % 16.35
¥ O % 15.2

I & oK o % 15.2

¥ i B E o, g/(:m3 1.848

il WmEREE o d g/(:m3 1.604
LA |

i [ D > B
pc = 29 <100
pd’

DC: #[E¥% (%)
04t KEED % OB B E R (g/cm®)

04 FBRWLBREE (g/cm®)

1.604
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93.8
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1. B AR O EDEIE

) iE No. 1(1[=1H) 121 H) 1= H)

BIERMEWOHE & I, 21862 21872 21888

BIEA &0 H & m; 6004 6004 6004

BIERHORZE \Y cm® 9820 9820 9820

OB & E pdssmym)/V g/cn® 1.615 1.616 1.618

IT. RERHRD ORI o ds g/cn’ 1.616
m. # =&

wooE® W N 1 B4 W GS-Cs
= B L No. 1
% x L 72 mm 75
= B 5 % Bit
P e No. 1
7 b = i g 28
(RRBRTLAS 0 HI L 72 4+ 45 59 B g 19842
RERAL2 B L7zt o0 i 3 ms g 19814
(RBHAD+ AR EE my g 18000
(FEor-R B AW+ A8 E & ms g 1127
NSRT VN OB O E R m, g 876
HOoB O o K B VeE(mmsmy)/ o g on’ 9899
A i ¥ B p=my/V, g/cm’ 2.002
iz pid v B om0 /(40 /1000 g/cm’ 1.720

wx % N 1
= ma g 1085.44
mb g 950.20
me g 78.25
o % 15.51
7K = % No 2
ma g 1092.44
mb g 942.25
me 69.58
2 o % 17.21
¥ O % 16.4

I & oK ik o % 16.4

¥ i B E o, g/(:m3 2.002

il WmEREE o d g/(:m3 1.720
T L

i [ D > B
pec = 29 100
pd’

DC: #[E¥% (%)
04t KEED % OB B E R (g/cm®)

04 FBRWLBREE (g/cm®)

1.720
X100
1.880
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